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~_ COMMON QUARTERLY EXAMINATION -2024
i Standard Xl Reg.Ne.l | l | ll l

e | CHEMISTRY : |

T'im'e‘r: 0 -~ Part-| Marks : 70

i l Choose the correct answer: ' 15 %1 =15

i 1. ', The equivalent mass of a trivalent'metal elementis 9 g eq~! the molar rnass of its

anhydrous oxide is

L) 102 b) 274 ¢) 270g d)78g
: 2 Two electrons occupying the same orbital are distinguished by
-a) azimuthal quantum number b) spin quantum number
c) magnetic quantum number d) orbital quantum number

¥ Identify the wrong statement
' a) amongst the |soelectronlc specres smaller the posrtlve charge on the cation
smaller Is the ionic radlus
b): amongst rsoelectrrc species greater the negative charge on the axron larger
: is . the ionic radius
5 5Ol atomrc radlus of the elements mcreases as one moves down the f rst group of
the perlodrctable

d) atomic radrus of the elements decreases as one moves across from the left to

5 rlght in the 2"‘1I perrod of the perrodlc table
4. Watergas is '

e B0 aND) CO’+'~HZQ - ¢) CO+H,  d)CO+N,
b 5 Tritium nucleu‘scontalns " \' ‘ | y il :
! a) 1p+0n b)2p+1n c) 1p+2n  d)noneofthese
6. The value of the gas const\ant,Rrs ) i e
@) 00s2dmiam ~ b) 0987 calmol' k'
© ¢ sadmoblit L A Sdsergmobtict
7. Maximum devratlon from rdealgas is expected from B

Ca) CHg) o Bl NH':_lg) 9 Hy) d)No9)
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{Deﬂne reactton quottent Q-

o . g . Xl Chemistry

. Heat of combustion is always | G o
a) positive b) negative
c) zero ‘ - d) either positive or negative

Inan adiabatic brocess,'wmch of the following is true?
a) =W ' b) q=0 o) AE=gq d) PAV =0
Solubility of carbon dioxide gas in cold water can be increased by

@) increasein pressure - . b) decrease in pressure
c) increase in volume : d) none ofthese
The general formula for alkadiene is - _
a) .CnHZn ) b) CnHZh'-'-‘t' c C H2n 2 d) Can—Z

R GH, - CH-COOH QN
The IUPAC name of the compound : IOH
a) 2- hydrokypropionicacid i ~b) 2hydroxypropanoicacid
c) propane 2-o0l- 10|c aC|d v vd) 1- carboxyethanol
How many cychc and acycllc |somers are possnbte for the molecular formula
CaHgO? s T W A ~ |
a) 4 b5, o9, . - d)10
Whatis the hybridisation state of benzyl carbomum ion? |
a) sp b) spdd” - ' o) 'sp? d) sp?d
_ The geomet'rical 'shepe'ofca;rbOCetion *\w\ 3‘«3“’2 T |
. @) linear - - b) tetrahedral - ')-plan‘ar - d)pyramidal -
T L i Part- I -
; Answer anyequestions (Q. No 24 is compulsory) » 6x2=12

: ‘Def neAvogadro number.

z What IS exchange energy? .

. Whatis effectlve nuclear charge'? iy
;»How is tntlum prepared? z

State Dalton s law of partial pressures
State the thlrd Taw of thermodynamlcs
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g R g Xl Chemistry
- 23, W'hat"is furi'ctionval group? Give an example. |
24, Givethe str‘ué:turé for the following compound: :
i) 1,3dimethylcyclohexane i) 3-ethyl-2-methyl-1-pentene
. S , ~ Part-1ll | '
- . Answer any 6 questions. (Q.No.33 is compulsory) 6x3=18
25. Whatare combination reactions and decomposition reaction? Give example.
26, Derive De-Broglie equation. | '
27 Define electronegativity.
28. What is compressibility factor Z?
29. Whatare spontaneous reactions? What are the conditions for the spontaneity of
 aprocess? . | ' |
30. State law of mass actlon . !
31. What is Lassalgnes extract (or) Sodlum fusnon extract’? .
32. Whatis Hyperconjucatlon'? Give example

‘_..33.'If an automobﬂe engine burns petrol at a temperature of 816°C and if the
‘ surroundlngtemperature is 219C, calculate its maximum possible efﬁc1ency
o Part - IV
v Answer all the questlons _§ 4 | . 5x5=25
.34, a) i) leetheelectronlcconfguratlon of Mn2”and Cr*. (2) |
ii) Calculate theox:datlon number ofthe element (3)
2) H‘2§04  b)OF,  ©)Cr0;
O i (OR) | |
b) Wnte notes on assumptlon of Bohr s atom model. (5) L
_35.' ) ) Acompound on analysns gave the following percentage composmon
C= 5455%, H= 909%, 0=236.36% e '
‘ ' Determine the empmcal formula of the compound. (3)
n) State Helsenberg suncertalnty prlncnple (2)

,,,,,,
A

: '*ﬁ;ji}b) N Explalnthe Paul | ‘g‘»method forthe determlnatlon of ionic radlus (3)
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) Denvethe relatuon between enthalpyand mternalenergy (3)

i) Define Joule-Thomson effect. (2) b
i e (OR)

ax b) V,Derive the relation betwe;an Kp and Kc. (5)

37.8) i)' Listthe characteristics of Gibbs free energy. (3)

ii) . Calculate the entropy change during the melting of one mole of ice into :
water at 0°C and 1 atm pressure Enthalpy of fusion of iceis 6008 J mof‘1 @

: it (OR)
"";"'f' b) i) ;‘”What is entropy’? erte |ts unit. (2)
3 ii) Deduce the Vant Hoff equatlon. 3)
38. a)._i)_ Expl'ainrelleétroméric éf_fect..(3)‘
- i'i_)‘ What are homologous series. (2)
e , o

b) leferentlate electrophlles and nucleophlles (5)
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